Logic Puzzles Reading Comprehension
Logic Puzzle One

A man is wearing black. Black shoes, socks, trousers, coat, gloves and ski mask. He is walking down a
back street with all the street lamps off. A black car is coming towards him with its lights off but

somehow manages to stop in time. How did the driver see the man?

Clue one: He wasn’t carrying a torch

Clue two: The driver wasn’t using any special technology

Clue three: There was nothing special about the car

Clue four: There was nothing special about the man or his clothes

Clue five: There was nothing special about the street

Clue six: The man didn’t have any trouble seeing the man

Clue seven: The man wasn’t surprised that the driver had seen him

Clue eight: The man could see the man because of light, but not because of artificial light

Clue nine: There wasn’t any moonlight

Clue ten: There wasn’t any starlight
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